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- PART-C (1x15=15 Marks)

16. a) i) Draw a single stage current series feedback amplifier and draw the basic
a1npl1fle1 without feedback and its equivalent circuit. Also del ive for voltage

gain without feedback. o _ L 9

i) Atank circuit havinga b mH coil W1th resistance 22 (3 and C= InFis connected
as load to a single tuned amphﬁer with Ry = 10 K. Calculate loaded and

unloaded quality factor. : (6)
' (OR) . _
b) i) Draw a two stage voltage series feedback ampl1ﬁe1 and 1ts basic amphﬁe1 _
Derive for A, and Avf with equivalent circuit. = - .- 0

it) Design and draw the astable mult1v1brato1 circuit usmg BdT to generate a

pulse waveform 0 — 10 V at 5 KHz with 50% duty cycle o - (6)

10. __D_i.fferentlate‘_be_twe"en InOnostable and-a'st_fc'l'blen_lul'tlyihraters.‘ RRAVEEh
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; 1. The voltage gam w1thout negatlve feedback is 40 dB What is the new voltage gain

if 3% negatwe feedback is 1ntroduced ?

2, A multxpole amphﬁer havmg a ﬁrst pole at 1 MHz and an open Ioop gam of 100 dB, o '
_is to be compensated for closed loop gams as low as 20 dB by an intr oductlon of a
) '_non donunant pole At what flequency must the pole be placed ?: '

) IG1ve any two examples for hlgh frequency and low frequency oscﬂlators -

4. State Barkhausen criterion, R

cre o T Pl

5, "What is the use cf transformer in tuned amphﬁer cncult o

) Determme the bandw1dth of two stage synchronous tuned ampllﬁer Assume the

'.:bandw1dth of mdnndual stage is 20’0 kHz

7. What is the role of commutatlon capacltor in Blstable mult1v1b1 ator circuit ?

8. D1ﬁ'erent1ate between chpper and clamper cxrcurt

9. Design a second order HPF w1th 1dent1cal RC. sectlcn Assume the gain is 3, .
f= 35 KHz, C = 0.01 microfarad. fers
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PART B S (5x13 65 Marks)

11. a) Identlfy the nature of feedback in Flgule 1 Let RCl =3 KQ Reg = 5000,
RE—BOQ Rg= RF—12KQ hg, =80, h; =1.1KQ, h, h —0 Determine
-the overall voltage gain’ (Avf) and overall cu1 rent gain (Alf) R (13)

—O +VCC

+
b
. _Figu'fesi e
. (0R> o
b) Cons:der a thlee Pole feedback amphﬁe1 w1th a loop gam given by _
By X 105 ' ‘ :

( +J106J[1+J10 )(.1+310 ] 7

.:_Determlne the frequency of the dominant pole of stabilize the feedback system.
Assume the phase margm is atleast 45° . o - (13)

12 a) 1) Draw Wem Bridge oscxllator usmg BJT explam and de1 ive the COlldlthl’l
" foroscﬂiation T e SRS T - (10)

11) In Colpltts oscﬂlatm C1 —1uF and C2,_0 2 p.F If the frequency of
~ oscillation is 10 KHz, find the value of: mductor Also find the required gain

for sustamed oscdlatlon N o o 3)
RS O s,

b) Draw Hartely oscﬂlatcn usmg FET explam and derlve the. condltlon for - :

osclllatlon LR o - : S (13)

: 13 a) Explam smgle tuned ampllﬁer and denve f01 gam and 1e?.r ntfrequency : (13)
(OR) .

b) i) Explam the stability.of tuned amphﬁers usmg Neutrahzatlon techniques. (9) -

P

i) Explain stagger tuned amphﬁer o , 4
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14. a) Consider the collector-coupled monostable multivibrator whose components and
supply voltages are indicated in Figure 2(a), calculate the voltage levels
Vge Voo Yoo Vai) of the waveforms during (t=0-, 0 and T) period in Figure 2(b).

Also find the overshoot voltage, 5. Assume silicon transistor

havmg he, =560, V, =0. 7 Vv, V =0.5V and input resistance, 2000, (13)
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Figure - 2(b)
(OR)

b) Explain the working of Schmitt 'I‘rlgge). with circuit. With the help of neat circuit
diagram explain the working pr1nc1p1e of emitter coupled astable multmb1 ator. (13)

16. a) i) Explain the working principle of voltage sweep generator in detaﬂ. (N
ii) Explain the working principle of current time base circuit. (6)

- ow
b) i) Explainthe working principle of UJT Sawtooth generator. : (6)

ii) Explain the working principle of free running blocking oscillator. )



